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CONTINUOUS INTERNAL EVALUATION- 2
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Note: Answer any 2 - full questlons choosmg one full question from each part.
g ey Questions T 0 Marks |[RBT| COs
5 0 PARTA
1|a|Find the forces in all the wires (AB, BC, and CD) and the load W, to 10 pL3ffe@nn

keep the system in equilibrium with BC horizontal. Take W.=1000N.
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b wo identical rollers each of weight 1000N are supported by an
inclined plane and vertical wall. Find the actions at A, B and C.
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alThe coefficients of friction are u,—O 3 and ;1;(')“.55—35{\;;?1—1 10
surfaces of contact. Determine the smallest force P required to just

l start block D moving if,
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a. Block C is restrained by cable AB as shown.
b. Cable AB is removed.
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b[Briefly explain laws of friction, angle of friction and types of friction. 10 . [+ L2 CEry

PART B
3|a[Explain briefly with neat sketch types of beams, types of supports and 10 L2 F CO2)
types of loads.
DD cierinint (hie reatiions 4t supports at A and D {u: loaded beam shown i LI H€e2 3
!in following figure.
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4[alAnalyse the following truss by method of joints. Tabulate the results 20 L3 |CO23
and sketch the results.
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